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TETRAEDRO	
  EX-­‐CONO	
  (con	
  un	
  poco	
  de	
  imaginación)	
  

Como	
  demostré	
  cumplidamente	
  en	
  mi	
  pdf	
  ESFERA,	
  ésta	
  se	
  originó	
  por	
  evolución	
  del	
  tetraedro.	
  Allí	
  
dejé	
  dicho	
  que	
  “La	
  esfera	
  del	
  Big	
  Bang	
  no	
  era	
  como	
  la	
  que	
  conocemos:	
  tenía	
  forma	
  de	
  tetraedro”.	
  

Lo	
  que	
  yo	
  no	
  sabía	
  entonces	
  es	
  que,	
  a	
  su	
  vez,	
  el	
  tetraedro	
  procede	
  del	
  cono	
  desde	
  el	
  mismísimo	
  Big-­‐
Ban.	
  Lo	
  han	
  comprobado	
  recientemente	
  unos	
  arqueólogos	
  balochistaníes	
  que	
  han	
  dejado	
  una	
  mues-­‐
tra	
  de	
  su	
  descubrimiento	
  en	
  el	
  museo	
  arqueológico	
  de	
  Ulán	
  Bator.	
  En	
  él	
  se	
  puede	
  apreciar	
  un	
  cono	
  
lleno	
  de	
  magma	
  primigenio	
  negro	
  que	
  ha	
  sido	
  extruido,	
  como	
  por	
  una	
  churrera,	
  adoptando	
  la	
  forma	
  
de	
  un	
  bobinado	
  de	
  segmentos	
  que	
  podrían	
  envolver	
  a	
  un	
  tetraedro.	
  

Cuando	
  yo	
  estuve	
  en	
  el	
  Big	
  Bang	
  (no	
  me	
  pregunten	
  los	
  años	
  que	
  tengo)	
  saqué	
  la	
  foto	
  de	
  la	
  Fig.	
  1	
  en	
  el	
  
momento	
  de	
  iniciarse	
  el	
  proceso	
  churresco	
  en	
  el	
  vértice.	
  La	
  foto	
  de	
  la	
  Fig.	
  2	
  es	
  más	
  reciente.	
  La	
  tomé	
  
en	
  el	
  museo	
  arqueológico	
  cuando	
  veraneaba	
  el	
  año	
  pasado	
  en	
  Ulán	
  Bator.	
  

	
  

	
  

	
  

	
  

	
  

	
  

Para	
  clarificar	
  este	
  singular	
  hallazgo	
  yo	
  me	
  he	
  entretenido	
  en	
  un	
  ejercicio	
  de	
  ingeniería	
  arqueológica	
  
consistente	
  en	
  meter	
  dentro	
  del	
  tetraedro	
  bobinario	
  de	
  los	
  balochistaníes,	
  un	
  tetraedro	
  de	
  verdad,	
  
más	
  que	
  nada	
  por	
  comprobar	
  que	
  eso	
  del	
  Big	
  Ban	
  es	
  cierto,	
  ya	
  que	
  como	
  ustedes	
  saben,	
  estas	
  cosas	
  
bigbanescas	
  mosquean	
  un	
  tanto.	
  El	
  resultado	
  de	
  mi	
  investigación	
  ha	
  sido	
  positivo:	
  los	
  arqueólogos	
  
esos	
  tenían	
  razón;	
  se	
  ve	
  claro	
  en	
  la	
  Fig.3.	
  

Fig.	
  1	
  

Fig.	
  2	
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Voy	
  a	
  describir	
  a	
  continuación	
  el	
  trabajo	
  de	
  ingeniería	
  al	
  que	
  me	
  he	
  referido.	
  Para	
  que	
  la	
  cosa	
  resulte	
  
del	
  mayor	
  efecto	
  sin	
  perder	
  realismo,	
  el	
  cono	
  deberá	
  tener	
  una	
  generatriz	
  vertical	
  y,	
  su	
  opuesta,	
  for-­‐
mando	
  30º	
  	
  con	
  ella;	
  todo	
  muy	
  a	
  juego	
  con	
  un	
  tetraedro.	
  

Como	
  el	
  material	
  del	
  museo	
  no	
  está	
  a	
  mi	
  alcance,	
  he	
  de	
  recurrir	
  al	
  papel	
  (para	
  el	
  cono)	
  y	
  a	
  la	
  cartulina	
  
(para	
  el	
  tetraedro).	
  En	
  la	
  construcción	
  del	
  tetraedro	
  no	
  voy	
  a	
  entrar	
  porque	
  ya	
  la	
  he	
  tratado	
  otras	
  ve-­‐
ces.	
  Tan	
  sólo	
  añadiré	
  algo	
  sobre	
  los	
  segmentos	
  bobinarios	
  de	
  la	
  Fig.	
  3.	
  A	
  primera	
  vista	
  parece	
  como	
  si	
  
esos	
  segmentos	
  fueran	
  las	
  intersecciones	
  con	
  las	
  caras	
  del	
  tetraedro	
  de	
  una	
  serie	
  de	
  planos	
  paralelos	
  
entre	
  sí.	
  Sin	
  embargo,	
  dando	
  vueltas	
  a	
  la	
  figura	
  se	
  aprecia	
  que	
  los	
  segmentos	
  no	
  se	
  cierran	
  en	
  triángu-­‐
los,	
  sino	
  que	
  progresan	
  en	
  modo	
  hélice	
  desde	
  el	
  vértice	
  que	
  toca	
  al	
  del	
  cono,	
  hasta	
  su	
  final	
  en	
  otro	
  de	
  
los	
  vértices	
  tetraédricos.	
  La	
  Fig.	
  2	
  aclara	
  toda	
  duda.	
  

Fig.	
  3	
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Partimos,	
  pues,	
  de	
  un	
  cono	
  recto	
  de	
  estas	
  características	
  (Fig.	
  4	
  para	
  su	
  sección	
  vertical):	
  

R	
  =	
  30	
  (radio	
  de	
  la	
  base).	
   	
   	
   	
   	
   	
   	
  

α	
  =	
  30º	
  (ángulo	
  en	
  el	
  vértice);	
  semiángulo	
  en	
  el	
  vértice	
  =	
  15º.	
  

H	
  =	
  111,9615	
  (altura	
  del	
  cono).	
  

g	
  =	
  115,9111	
  (generatriz)	
  

Teniendo	
  en	
  cuenta	
  que	
  

Arco	
  =	
  ángulo	
  ×	
  radio	
  (aquí	
  radio	
  =	
  g)	
  

	
  el	
  desarrollo	
  de	
  la	
  superficie	
  cónica	
  sería	
  (Fig.	
  5):	
  

ángulo	
  del	
  desarrollo	
  =	
  2π	
  ×	
  30	
  /	
  115,9111	
   (radianes).	
  	
  

β	
  =	
  ángulo	
  del	
  desarrollo	
  =	
  (2π	
  ×	
  30/	
  115,9111)	
  (180	
  /	
  π)	
  =	
  93,1748º	
  	
  
(grados	
  sexagesimales).	
  	
  

	
  

	
  

	
  

En	
  la	
  Fig.	
  5	
  se	
  ve	
  el	
  ángulo	
  β	
  del	
  desarrollo	
  de	
  la	
  
superficie	
  cónica	
  pestañada	
  en	
  su	
  curva.	
  La	
  otra	
  
superficie	
  igual	
  a	
  ella	
  no	
  necesita	
  pestañas	
  que	
  la	
  
fijen	
  a	
  la	
  base	
  circular.	
  Está	
  para	
  reforzar	
  la	
  super-­‐
ficie	
  del	
  cono	
  y	
  para	
  servir	
  como	
  gran	
  	
  pestaña	
  de	
  
cierre.	
  

Así	
  es	
  como	
  se	
  construiría	
  el	
  cono	
  recto,	
  pero	
  no	
  es	
  
éste	
  el	
  que	
  nos	
  interesa.	
  Necesitamos	
  fabricar	
  el	
  
oblicuo,	
  el	
  que	
  tiene	
  base	
  elíptica.	
  Su	
  sección	
  verti-­‐
cal	
  se	
  ve	
  en	
  la	
  Fig.	
  6	
  que	
  es	
  la	
  Fig.	
  4	
  girada	
  15º	
  para	
  
conseguir	
  que	
  una	
  generatriz	
  quede	
  vertical.	
  En	
  
dicha	
  Fig.6	
  se	
  puede	
  apreciar	
  el	
  segmento	
  AB	
  como	
  
representante	
  del	
  semieje	
  mayor	
  a	
  de	
  la	
  elipse	
  re-­‐
sultante	
  (a	
  =	
  AB	
  /	
  2).	
  Veamos	
  cómo	
  conseguir	
  el	
  
semieje	
  menor	
  b	
  y,	
  con	
  ello	
  dejar	
  definida	
  la	
  elipse	
  
en	
  cuestión.	
  Ello	
  se	
  muestra	
  en	
  la	
  Fig.	
  7	
  sin	
  entrar	
  
en	
  mucho	
  detalle	
  demostrativo.	
  

	
  

Fig.	
  4	
  

Fig.	
  5	
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Fig.	
  6	
  

Fig.	
  7	
  

Fig.	
  8	
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Dicha	
  Fig.	
  7	
  sirve	
  para	
  obtener	
  los	
  focos	
  F	
  y	
  F´	
  sobre	
  el	
  eje	
  mayor	
  AB	
  de	
  la	
  elipse.	
  Son	
  los	
  puntos	
  de	
  
tangencia	
  con	
  AB	
  de	
  las	
  circunferencias	
  de	
  centros	
  O´	
  y	
  O	
  respectivamente.	
  Esta	
  última	
  circunferencia	
  
es	
  la	
  inscrita	
  en	
  el	
  triángulo	
  VAB,	
  y	
  la	
  otra	
  es	
  la	
  tangente	
  común	
  al	
  segmento	
  AB	
  y	
  a	
  las	
  prolongaciones	
  
de	
  las	
  generatrices	
  VA	
  y	
  VB.	
  Dichos	
  centros	
  se	
  obtienen	
  como	
  intersección	
  de	
  las	
  bisectrices	
  corres-­‐
pondientes.	
  

No	
  es	
  ocasión	
  ahora	
  de	
  demostrar	
  lo	
  anterior.	
  Se	
  pone	
  en	
  evidencia	
  al	
  sustituir	
  las	
  líneas	
  de	
  la	
  Fig.	
  7,	
  
respectivamente,	
  	
  por	
  estas	
  cuatro	
  superficies:	
  el	
  cono;	
  un	
  plano	
  secante	
  a	
  él	
  y	
  dos	
  esferas	
  tangentes	
  a	
  
éste	
  y	
  al	
  plano	
  (Olabarrieta,	
  pág.	
  155).	
  

En	
  esta	
  Fig.	
  7	
  ya	
  se	
  aprecia	
  algo	
  importante:	
  los	
  focos	
  F	
  y	
  F´	
  de	
  la	
  elipse	
  resultan	
  centrados	
  respecto	
  de	
  
sus	
  vértices	
  A	
  y	
  B	
  pero	
  ello	
  implica	
  que	
  el	
  centro	
  de	
  la	
  elipse	
  no	
  se	
  sitúa	
  sobre	
  el	
  eje	
  VO	
  del	
  cono:	
  Que-­‐
da	
  desplazado	
  hacia	
  la	
  izquierda	
  en	
  virtud	
  del	
  sesgo	
  que	
  ha	
  tomado	
  el	
  cono	
  al	
  pasar	
  de	
  recto	
  a	
  oblicuo.	
  
Esta	
  circunstancia	
  se	
  aprecia	
  al	
  comparar	
  el	
  segmento	
  AB	
  en	
  las	
  Figs.	
  7	
  y	
  8;	
  en	
  esta	
  última	
  se	
  muestra	
  
el	
  centro	
  C	
  de	
  la	
  elipse	
  equidistante	
  de	
  F	
  y	
  F´.	
  La	
  Fig.	
  9	
  añade	
  a	
  la	
  8	
  los	
  tres	
  parámetros	
  de	
  la	
  elipse:	
  

a	
  =	
  AC	
  =	
  BC	
  =	
  FE	
  

b	
  =	
  DC	
  =	
  EC	
  

c	
  =	
  FC	
  =	
  F´C	
   (semidistancia	
  focal)	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

Como	
  se	
  puede	
  ver,	
  las	
  dos	
  circunferencias	
  de	
  centros	
  en	
  F	
  y	
  F´	
  tienen	
  de	
  radio	
  a	
  =	
  AC	
  =	
  FE	
  con	
  lo	
  cual	
  
resulta	
  que	
  sus	
  intersecciones	
  D	
  y	
  E	
  son	
  puntos	
  de	
  la	
  elipse	
  (los	
  dos	
  vértices	
  que	
  faltaban),	
  ya	
  que	
  FD	
  
+	
  DF´	
  =	
  2a,	
  que	
  es	
  la	
  condición	
  que	
  cumplen	
  todos	
  los	
  puntos	
  de	
  una	
  elipse.	
  

Fig.	
  9	
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Asimismo	
  ocurre	
  que	
  en	
  un	
  triángulo	
  tal	
  como	
  el	
  FCE	
  se	
  cumple	
  que	
  FE2	
  =	
  CE2	
  +	
  CF2,	
  o	
  lo	
  que	
  es	
  lo	
  
mismo	
  a2	
  =	
  b2	
  +	
  c2	
  que	
  es	
  otra	
  característica	
  de	
  la	
  elipse.	
  	
   	
   	
   	
   	
   	
  
	
   	
   	
   	
   	
   	
  

La	
  Fig.	
  10	
  es	
  una	
  extracción	
  de	
  la	
  9	
  mostrando	
  sólo	
  los	
  
cuatro	
  vértices	
  ABDE	
  de	
  la	
  elipse	
  y	
  su	
  centro	
  C.	
  Esa	
  es	
  
toda	
  la	
  información	
  que	
  requiere	
  AutoCad	
  para	
  pro-­‐
ducir	
  la	
  elipse	
  correspondiente.	
  Dicha	
  elipse	
  se	
  mues-­‐
tra	
  en	
  esta	
  Fig.	
  10	
  superpuesta	
  a	
  los	
  cuatro	
  vértices.	
  
Como	
  se	
  ve,	
  la	
  elipse	
  resulta	
  ser	
  un	
  tanto	
  circunferen-­‐
ciosa	
  a	
  consecuencia	
  de	
  los	
  escasos	
  15º	
  de	
  giro	
  que	
  se	
  
aplicaron	
  al	
  cono:	
  pero,	
  evidentemente,	
  no	
  es	
  una	
  cir-­‐
cunferencia	
  (1).	
  

Lo	
  cual,	
  añadido	
  al	
  hecho	
  también	
  evidente,	
  de	
  que	
  las	
  
generatrices	
  del	
  cono	
  oblicuo	
  son	
  de	
  distinta	
  longitud	
  
y	
  no	
  de	
  la	
  misma	
  como	
  ocurre	
  con	
  el	
  cono	
  recto,	
  com-­‐
plica	
  la	
  cosa	
  a	
  la	
  hora	
  de	
  conseguir	
  el	
  desarrollo	
  en	
  
papel	
  de	
  la	
  superficie	
  cónica	
  oblicua.	
  En	
  resumen,	
  hay	
  
que	
  conocer	
  la	
  longitud	
  de	
  cada	
  generatriz	
  y	
  su	
  lugar	
  
sobre	
  dicha	
  superficie.	
  Realmente	
  las	
  generatrices	
  son	
  
iguales	
  por	
  parejas	
  debido	
  a	
  la	
  simetría	
  del	
  cono	
  obli-­‐
cuo	
  respecto	
  de	
  su	
  plano	
  medio	
  vertical.	
  

La	
  definición	
  de	
  una	
  elipse	
  es	
  siempre	
  aproximada	
  porque	
  tras	
  ella	
  se	
  ocultan	
  ciertos	
  desarrollos	
  en	
  
serie.	
  Como	
  además	
  nosotros	
  tenemos	
  necesidad	
  de	
  pestañar	
  la	
  superficie	
  cónica	
  de	
  papel	
  para	
  asen-­‐
tarla	
  sobre	
  su	
  base	
  elíptica,	
  no	
  tenemos	
  más	
  remedio	
  que	
  poligonarla.	
  Distinto	
  sería	
  si	
  se	
  tratara	
  de	
  
construir	
  la	
  figura	
  en	
  una	
  copiadora	
  3D	
  que	
  permite	
  aproximar	
  los	
  desarrollos	
  cuanto	
  se	
  quiera.	
  

La	
  Fig.	
  11	
  muestra	
  la	
  elipse	
  en	
  disposición	
  de	
  ser	
  poligona-­‐
da	
  con	
  24	
  cuerdas	
  que	
  resultan	
  adecuadas	
  a	
  nuestro	
  propó-­‐
sito;	
  en	
  realidad	
  el	
  polígono	
  no	
  está	
  consumado.	
  La	
  longitud	
  
media	
  de	
  cada	
  cuerda	
  es	
  i	
  =	
  7,4270.	
  

Hablo	
  de	
  longitud	
  media	
  porque	
  la	
  función	
  dividir	
  (en	
  par-­‐
tes	
  iguales),	
  de	
  Autocad,	
  no	
  se	
  comporta	
  de	
  la	
  misma	
  mane-­‐
ra	
  para	
  una	
  circunferencia	
  (donde	
  todas	
  los	
  tramos	
  obteni-­‐
dos	
  por	
  la	
  división	
  son	
  exactamente	
  iguales)	
  	
  que	
  para	
  una	
  
elipse.	
  En	
  ésta	
  las	
  cuerdas	
  van	
  creciendo	
  desde	
  el	
  vértice	
  
picudo	
  (el	
  A)	
  hasta	
  el	
  achatado	
  (el	
  D).	
  En	
  nuestro	
  caso	
  esa	
  
dispersión	
  tiene	
  un	
  recorrido	
  de	
  46	
  diezmilésimas	
  de	
  milí-­‐
metro.	
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Para	
  ilustrar	
  lo	
  dicho	
  sobre	
  las	
  aproximaciones	
  mostraré,	
  a	
  modo	
  de	
  comparación,	
  la	
  longitud	
  que	
  
resulta	
  para	
  nuestra	
  elipse	
  en	
  estas	
  tres	
  condiciones:	
  

1)	
  Nuestra	
  elipse	
  poligonada	
  tiene	
  una	
  longitud	
  de	
  24	
  ×	
  	
  7,4270	
  =	
  178,248.	
  

2)	
  La	
  elipse	
  calculada	
  según	
  la	
  práctica	
  geodésica	
  que	
  emplea	
  la	
  fórmula	
  	
  

L	
  =	
  π	
  [3/2	
  (a	
  +	
  b)	
  -­‐	
  √(ab)]	
  

Produce	
  una	
  longitud	
  de	
  178,7592	
  

3)	
  La	
  longitud	
  de	
  la	
  elipse	
  en	
  cuestión	
  usando	
  los	
  valores	
  de	
  a	
  y	
  e	
  (la	
  excentricidad	
  e	
  =	
  c/a)	
  aplicados	
  
a	
  la	
  siguiente	
  fórmula	
  

L	
  =	
  2πa	
  [1	
  –	
  (¼)	
  e2	
  –	
  (3/64)	
  e4]	
  

Produce	
  una	
  longitud	
  de	
  178,762.	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  Fig.	
  12	
  

	
  Fig.	
  13	
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Vamos	
  a	
  proceder	
  ya	
  a	
  conseguir	
  el	
  desarrollo	
  de	
  la	
  superficie	
  cónica	
  oblicua.	
  La	
  Fig.	
  12	
  está	
  extraída	
  
de	
  la	
  6	
  y	
  muestra	
  sus	
  dos	
  únicas	
  generatrices	
  conocidas	
  a	
  priori:	
  la	
  VA	
  y	
  la	
  VB.	
  

La	
  Fig.	
  13	
  es	
  la	
  misma	
  12	
  a	
  la	
  que	
  se	
  ha	
  superpuesto	
  la	
  11	
  con	
  el	
  añadido	
  de	
  los	
  segmentos	
  verticales	
  
propios	
  de	
  la	
  simetría.	
  

Así	
  pues,	
  la	
  Fig.	
  13	
  resulta	
  ser	
  la	
  representación	
  díedrica	
  del	
  cono	
  oblicuo	
  si	
  se	
  mira	
  de	
  esta	
  forma:	
  El	
  
triángulo	
  como	
  proyección	
  sobre	
  el	
  plano	
  vertical	
  y	
  la	
  elipse	
  como	
  proyección	
  en	
  planta,	
  abatida	
  so-­‐
bre	
  dicho	
  plano	
  vertical.	
  Esta	
  configuración	
  permite	
  leer	
  con	
  facilidad	
  las	
  coordenadas	
  3D	
  de	
  todos	
  los	
  
puntos	
  interesados:	
  los	
  24	
  de	
  la	
  elipse	
  y	
  el	
  vértice	
  V.	
  Para	
  ello	
  basta	
  considerar	
  B	
  como	
  origen	
  de	
  
coordenadas,	
  BV	
  como	
  eje	
  Z,	
  BA	
  como	
  eje	
  X	
  y	
  la	
  perpendicular	
  a	
  éste	
  por	
  B	
  como	
  eje	
  Y.	
  Naturalmente,	
  
todos	
  los	
  puntos	
  de	
  la	
  elipse	
  tendrán	
  z	
  =	
  0	
  y	
  V	
  tendrá	
  0	
  para	
  sus	
  coordenadas	
  x,	
  y	
  siendo	
  z	
  =	
  100,3820	
  
=	
  115,9111	
  ×	
  cos	
  30.	
  

Compuesta	
  la	
  breve	
  tabla	
  de	
  coordenadas	
  estamos	
  en	
  disposición	
  de	
  obtener	
  la	
  longitud	
  de	
  cada	
  ge-­‐
neratriz:	
   g	
  =	
  √	
  [(0	
  –	
  x)2	
  +	
  (0	
  –	
  y)2	
  +	
  100,38202]	
  =	
  √	
  [x2	
  +	
  y2	
  +	
  100,38202]	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  Fig.	
  14	
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Ahora	
  sólo	
  falta	
  colocar	
  las	
  generatrices	
  en	
  su	
  sitio	
  según	
  la	
  Fig.	
  14.	
  En	
  ésta	
  se	
  puede	
  ver	
  que	
  ha	
  desa-­‐
parecido	
  la	
  elipse:	
  ha	
  sido	
  sustituida	
  por	
  su	
  polígono	
  con	
  el	
  fin	
  de	
  ofrecer	
  con	
  sus	
  lados	
  el	
  lado	
  menor	
  
de	
  los	
  triángulos	
  adosados	
  que	
  resultarán	
  en	
  el	
  desarrollo	
  de	
  la	
  superficie	
  cónica	
  (de	
  cada	
  triángulo	
  
adosado	
  conocemos	
  sus	
  tres	
  lados).	
  

Veamos	
  la	
  sistemática	
  observando	
  el	
  primero	
  de	
  los	
  triángulos	
  adosados:	
  Se	
  conoce	
  su	
  lado	
  VB	
  (la	
  
primera	
  generatriz);	
  el	
  lado	
  pequeño	
  es	
  el	
  primero	
  del	
  polígono-­‐elipse;	
  el	
  tercer	
  lado	
  es	
  la	
  segunda	
  
generatriz	
  obtenida	
  mediante	
  la	
  fórmula	
  anterior	
  que	
  da	
  los	
  sucesivos	
  valores	
  de	
  g.	
  Sobre	
  este	
  primer	
  
triángulo	
  se	
  irán	
  adosando	
  los	
  siguientes	
  hasta	
  completar	
  todo	
  el	
  desarrollo.	
  

Resulta	
  curioso	
  comparar	
  ambos	
  desarrollos	
  (cono	
  recto	
  y	
  oblicuo)	
  mirando	
  las	
  figuras	
  5	
  y	
  14.	
  

	
  
	
  

****0****	
  
	
  
	
  
(1)	
  Como	
  se	
  vio	
  en	
  la	
  Fig.	
  10,	
  para	
  construirla,	
  llegamos	
  a	
  tener	
  4	
  puntos	
  de	
  la	
  elipse	
  (los	
  cuatro	
  vérti-­‐
ces,	
  además	
  de	
  su	
  centro).	
  Para	
  el	
  caso	
  de	
  no	
  disponer	
  de	
  Autocad	
  veamos	
  cómo	
  obtener	
  cuatro	
  más	
  a	
  
partir	
  de	
  uno	
  situado	
  en	
  el	
  eje	
  AB	
  (el	
  X	
  de	
  la	
  Fig.	
  15).	
  Con	
  los	
  ocho	
  resultantes	
  ya	
  se	
  puede	
  dibujar	
  a	
  
pulso	
  una	
  elipse	
  prácticamente	
  perfecta.	
  De	
  hecho,	
  sobre	
  esos	
  8	
  puntos	
  de	
  la	
  Fig.	
  15	
  (los	
  4	
  vértices	
  y	
  
los	
  4	
  puntos	
  nuevos),	
  Autocad	
  puede	
  dibujar	
  una	
  buena	
  elipse	
  haciendo	
  pasar	
  por	
  ellos	
  una	
  Spline.	
  	
  
	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  
	
  

	
  Fig.	
  15	
  

	
  Fig.	
  16	
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Atención!:	
  Al	
  punto	
  de	
  partida	
  X	
  de	
  la	
  Fig.	
  15	
  sobre	
  el	
  eje	
  AB	
  se	
  le	
  exige	
  estar	
  dentro	
  del	
  segmento	
  in-­‐
terfocal.	
  En	
  sus	
  extremos	
  F	
  y	
  F´,	
  X	
  reproduce	
  los	
  vértices	
  A	
  y	
  B	
  respectivamente,	
  y	
  fuera	
  de	
  dichos	
  ex-­‐
tremos	
  resulta	
  inoperante.	
  
	
  
La	
  Fig	
  16	
  muestra	
  la	
  generación	
  de	
  dos	
  nuevos	
  puntos	
  de	
  la	
  elipse.	
  Son	
  los	
  de	
  intersección	
  de	
  las	
  cir-­‐
cunferencias	
  de	
  centros	
  F	
  (y	
  radio	
  XA)	
  y	
  F´	
  (de	
  radio	
  XB).	
  Ya	
  se	
  ve	
  que	
  la	
  suma	
  de	
  distancias	
  de	
  cual-­‐
quiera	
  de	
  ellos	
  a	
  F	
  y	
  F´es	
  igual	
  a	
  2a	
  (equivalente	
  a	
  AB).	
  En	
  la	
  Fig.	
  15	
  se	
  ven	
  añadidos	
  esos	
  dos	
  puntos	
  y	
  
sus	
  simétricos	
  respecto	
  del	
  semieje	
  menor	
  b.	
  Naturalmente,	
  los	
  vértices	
  A	
  y	
  B	
  también	
  cuentan	
  para	
  
los	
  ocho	
  puntos	
  deseados.	
  
	
  
	
  
	
  

****0****	
  
	
  

La	
  Fig.	
  17	
  viene	
  en	
  ayuda	
  de	
  la	
  3	
  para	
  mostrar	
  que	
  ya	
  en	
  la	
  noche	
  de	
  los	
  tiempos	
  los	
  inputs	
  y	
  outputs	
  
de	
  un	
  tetraedro	
  alámbrico	
  estaban	
  asociados	
  a	
  sus	
  correspondientes	
  conos	
  oblicuos.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Fig.	
  17	
  


